
KIT NO. 609226, 190123

SOLUTION TANK KIT

Page 1 of 1

609152 Rev. 02 (09--06) Tennant Company Customer Service: (800) 553--8033 or (763) 513--2850

INSTALLATION INSTRUCTIONS:
(Installation Time: 15 min.)

FOR SAFETY: When servicing machine, unplug
cord from wall outlet.

TOOLS REQUIRED: Phillips & Std. Screwdriver,

9/16” Wrench.

WARNING: Flammable materials can
cause explosion or fire. DO NOT use flammable
materials in tank.

SOLUTION TANK KIT CONTENTS:

Ref P/N Description Qty
1. 240194 Knob 1
2. 140548 Nut, 5/16 1
3. 230399 Rod, Valve Solution Tank 1
4. 609150 Solution Tank, Green (609226 kit) 1

611864 Solution Tank, Gray (190123 kit) 1
5. 700197 Valve Assembly 1

210216 Valve, w/nut & O-ring 1
210218 O-ring seal for Valve 1

6. 150516 Fitting, 1/4MX3/8H 1
7. 606667 Hose, 3/8ID 1
8. 150511 Fitting, 1/4FX3/8H 1
9. 43844 Clamp, Hose 2
10. 140885 Screw, 1/4--20X1/2 4
11. 140052 Washer, 1/4 Ext. 5
12. 140881 Screw, 1/4--20X1 1
13. 230475 Bracket, Solution Tank 2

Remove black
plug from base
and thread Fitting
#6 into hole.

4

1

2

3

5 6

7

10

9

8

13

11
Thread rod
into valve

assembly at
bottom of

solution tank.

Remove bottom
screw from cord
hook.Cord

Hook

13
11

10

12


